2.47
O¢tovpe
f (X) nuxnu2x + ovvx —1
V1+x2 -1

=h(x)

omote Ba eivan limh(x) =3

x—0

Axoun

f(X)nMXnH2X+GUVX—1 _ h(X) :f(x)nuxnu2x+cl)vx—l :h(x)[ [l +x2 _1}3

J1+x2 -1
h(x)] V1+x* ~1]+1-ovvx

=

f(X)nuxm,Qx = h(x)[\ller2 —1:|+1—GDVX = f(x) =

NUXNU2X
h(x)| V2+x* ~1]+1-ovvx
= limf (x) =lim
Xx—0 X—0 nuxnu2x
, , h(x)[\/1+ x? —1}+1—m)vx
Srapovpe (xpleunrr] )
KOLTUPOVOHOOTY HE X 2
- _ - X
= !(mf (x)= IX'LT(] NUXNU2x
X2
V1+x®* -1 1-ocvvx
h X)' 2 + 2
= limf (x) =lim X X =
Xx—0 X0 nux Mu2x
X X
2
limh (x)-lim V2% 7L i 1700V
— I||Tgf (X) _ X—0 Xx—0 X 2x—>0 X (1)
= lim THX fjm NH2X
x=0 X x=>0 X
AMG
leggh(x)=3 2)
molamhactilovpe apOunt
A ,1_’_ X 1|<mnupovouaom“usp l+xn+l| (\f1+ X2 - )(\”.4' X +1) I ’1+ X2 2 _12
m =1m =

o x=0 ( 1+x° +1) 20 x? (\/1+7+1)

L Sl ST X 1 1
x50 2(\/1+_x+1) X*‘fo(\/mu) V14041 2

moAamhaotdlovpe apOunTh

fip L OUVX _ R o (1-ovvx)(1+ovvx) . 1-ocvv’x
-0 x? - =0 x*(l+ovvx)  =0x*(I+ovvx)

©)

2 2 x—>07
S L S AL T L S DR )
x>0 X% (1+ovvx) *x00 x*  x501+cvvx 1+1

noAAamAoGLALoVpE aptOunTh li m nu 2x 1

KOLTTOPOVOLAGTH e 2
lim IH2X - lim 22X 25 4o ()
x-0 X x=0  2X

"Etol teAkd






